SECTION 3.4.2 AND 3.4.3: COMPOSITION OF LINEAR MAPS AND MATRIX MULTIPLICATION

1. Example Let f : R? — R? and g : R? — R? be linear maps with matrix representations

2 1
1 -1 0 0 0 ) . 2
A:[O 9 1] dB = 01 (w1thstandardbases€3,€2,and&.)Letv(1).
—1
0 2
Find (g o f)(7). i Checks
2 -l+o 5———— 5
\ = = | -l ° = 2 - ,: l] o Does 30{'\ malte Sease!

N:p.£3) =2 ! 2 *\ 3\ - which matrix
%(Q (ﬁ% z S([ \] =P 'QCV) g 0]( l|>:[ o :( o) 0)005 idh which
0

|
2 Z 2 Loncdim?
R 20 -242 O+l 9 o I
W 2 | Lo o o e oo
= | - = :
BA i \0 [o 2 11 o z | ‘; Z IZ
0 9 o 4 7 4 2
s 243 H43
2 01 2 H+0 -1 2 The Sane!
-~ -
= 00 z 0 -
(B/Q’U‘ s 21| |- 2 -1 !
> 42 y -2 2
3
_ L | G by - Pin
A I:Ou,ﬂ T | Rl Bgp o An | = :
' ; v 4
avm a"ﬂ,“ Amn
J J
by
Rz by -l C
C' A B l; a“ 0u.,, O¢n - 4
bry
A )

C,;:) = ai. bll’ + at:z\’Zj + Gy lo&j"‘"' Rl I'-MJ

UAF Linear 1



[/
On P oY
2. Definition 2.3 of Matrix Multiplication A = [a;;] is m x nand B = [b;;] is n x p. Then C' = [¢;;] =
AB is defined as
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3. Example: Let A= [0 0 1 |,B= 1 3 0 3 —1
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